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10™ SCIENCE ACHIEVEMENT TEST-3 (2024 25)

Time: 60 Minutes ; _ il ‘Total Marks: 50
Note: Answer ALL the questions. :

1) Inertia of a body depends on .
a) weight of the object b) acceleration due to gravny of the planet c) mass of the object d) Botha &b
Newton’s 1] law is applicable : : , .

a) for a body is at rest b) for a body in rncmon 9] both a &b d) only for bodies with equal masses
_ Powerofa lens is —4D, then its focal lengthis AR : e ' :
- .a)4m b)—40m ¢)-025m " d)-2. S5m
In a myopic eye, the image of the object 15 formed
a) behind the retina b).on the retina c) in front of the retina: d) on the blmd spot
The value of universal gas constant
a) 3.81 Jmol™! K7 b)8.03 Jmol" K ¢)1.38 ]mol K'd)8.31 ]mol X!
Temperature is the average .~ of the molecules of a substance g
a) difference in K.E and P.E b) sum of P.E and K.E
c) difference in T.E and P.E d) difference in K.Eand T.E ,
Which of the following is correct?
a) Rate of change of charge is electrical power: - b) Rate of Lhdnge of uharge 1s currenl
¢) Rate of change of energy is current. d) Rate of change of current is charge
. Kilowatt hour is the unit of
a) resistivity b) conductivity ¢) electrical energy d) elcumal power
When a sound wave travels through air, the air paxucles )
a) vibrate along the direction of the wave motion . b) vibrate but not in any tIXEd dlrectlon
¢) vibrate perpendicular to the direction of the wave otion i d) do not vibrate
e 10 Velocity of sound in a gaseous medium i is 330 ms—1. If the pressure is mucased by 4 times without causmg a change in
" the temperaune the velocﬁy of sound in the gas lS : ;

U a)330ms™ b) 660 ms' c) 156 ms™ ) 990 ms”? ;
11." Unit of radioactivity is _ L ;
‘ 3 %acpﬁj

¢ a. roentgen b. curie c. becqucrel d. all the above
2 In the nuclear reaction X " a decay YA thevalue of A& Z.
 ~2.8.6 b.8, 4 c. 4,8 d cannotbe determined with the gwen data \\“:—\0 ’T-‘\\D \Pﬁ NP’@-\Q.

13. - Which of the toIlowmg is a triatomic molecule? | &
“ " (a) Glucose (b) Hehum (¢) Carbon dioxide (d) Hydrogen L O AN RLAT

> '14. In the nucleus of »Ca®, there are : L 3 _ :
- (a) 20 protons-and 40 neutrons (b) 20 protons and 20 peutrons ~ . - O\C\\‘rq_go\\o\\ O.
' ¢)-20 protons and 40 electrons (d) 40 protons and 20 electrons . 3 y : : —
gl“hc bailq of modem penodxc lawis - - - SO‘\QXQ C:D D
(a) atomic number (b) atomic mass (c) 1sot0p1c mass (d) uumbu of neutrons ' :
In the al ummothenfmc process the role of Al is: A
(a) oxidizing agent (b) reducing agent (©) hydrogenatmg agent (d) qulphurmng agent
. 'Which of the following inert gas has electmns in the ontermost shell? .
~. (a) He (b)Ne (c) Ar () Kr . :
Identify the non aqueous solution - : L AR L
a) sodium chloride in water b) glucose n water c) copper su]phate in water - d) sulphur in carbon'-di-s'ulphide .
Which of the following is hygroscopic in nature? . - : )
a) ferric chloride ) copper sulplnte penta hydrate  c) silica gel  d) none of the nbove
A single displacement reaction is represcated by X(s)+2HCl(aq)—-'XClz(aq)+H2(g) the followmg(s) could be }\?
(i)Zn’ (n) Ag (m) Cu (iv) Mg Choose the best pair.
(a)iandii (b)iiand iii (¢) iii and iv (d) iand iv
Which of the following represents a precipitation reaction?
@ A+ By = Co*+Dw (0 AwtBua = Caat Dqy
(C) A(w\ + B(uu) - C(l) * D(nq) (d) A(nu’l + B(s] oy { ('(nu\ + D(l)
. The molecular formula of an open-chéin organic compound is (,31{6 The class of the compound is:
(a) alkane (b) alkene (c) alkyne (d) alcohol g -
. Which of the following are used as anaesthetics?
(a) Carboxylic acids (b) Ethera (c) Esters (d) Aldehydx.s
. TFM in soaps represents _. -~ ~ content in soap. ‘
(a) mineral (b) vitamin (c) fatty acid (d) carbohydrate. ‘ 10 Science EMP -1
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0. The ‘use and disuse theory’ was proposed by
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Casparian strips are present in the " of the root.

a) cortex b) pith  ¢) pericycle  d) endodermis

Oxygen is produced at what point during photosynthesis ?

a) when ATP is converted to ADP b) when CO2 is fixed

¢) when H2Q is splitted  d) All of these

The segments of leech are known as

a) Metameres (somites)  b) Proglottids ¢) Strobila d) All the abo\c

Pharyngeal ganglion in leech is a part of

a) Excretory system  b) Nervous system  ¢) chroductwe system d) Respiratory system ;
Water which is absorbed by roots is transported to aerial parts of the plant lhrough ’
a) cortex b) epidermis ¢) phloem d) xylem .

Which one of the following shows correct composition of blood

a) Plasma - Blood + Lvmphocytc b) Serum - Blood + Ftbrmogen :

¢) Lymph - Plasma + RBC + WBC d).Blood - Plasma + RBC+ WBC +Platclets

In reflex action, the reflex arc is formed by ® '
(a) brain, spinal cord, muscle (b) receplor, muscle, spinal cord ‘ .
(¢) muscle, receptor, brain (d) receptor, spinal cord muscle

. Nerve cells do not possess

(a) neurilemma (b) sarcolemma (c) axon (d) dcndrltes

The hormone which has positive effect on apical dominance is:

a) Cytokinin b) Auxin c) Gibberellin "d) Ethylene

Which organ‘acts as both exocrine gland as well as endocrihe gland

a) Pattcreag b) Kidney c) Liver d)Lungs -

Asexual reproduction takes place’ through budding in

a) Amoeba b) Yeast c) Plasmndzum d) Bactcna

Estrogen is secreted by 2 (-

a) Anterior pituitary b) Primary folhcle c) Grafﬁan folhcle d) Corpus luteum

.~ The region of the chromosome where the'spindle fibres get attached during cell dwtsnon
a) Chromomere b) Centrosome  ¢) Centromere d) Chromoncma i

The .~~~ units form the backbone of the DNA.

a) 5 carbon sugar _b) Phosphate " ¢) Nrtrogenous bases d) Sugar phosphatc (=2
The term Ethnobotany was coined by : o
a-Khorana b.J:W: Harsbberger c. ‘Ronald Ross d. Hugo de Vrles

‘a. Charles Darwm b. Ernst Haeckel' c. Jean Baptiste Lamarck d. Gregor Meudel

The miracle rice which saved millions of lives and celebrated lts 50th b1rthday is -

a.IR8 bIR24 cAtomttaZ dPonm Sesdin 4 :

rDNAisa -~ pE

a. vector DNA' b. crrcular DNA c. recombmant of vector DNA and deswed DNA d satelllte DNA e

Polyphagia is a condition seen in - : ; :

a) Obesity b) Diabetes mellitus ¢) Dmbctes 1n51p1du.s d) AIDS

A renewable source of energy is

a) petroleum  b) coal- ¢) miclear fuel “d)trees. 1

Green house effect refersto | '

a) cooling of carth b) trapping of UV rays ) cultlvatlon of plants d) warmmg of carth e

Which software is used to create animation ?. 3] . :

a) Paint b) PDF c¢) MS Word . d) Scratch

Which is used (6 build scripts? {

a) Script arca. b) Block palette * ¢) stage d) spnte

‘Which of the following statements is wrong about detergems" &

(a) It is a sodium salt of long chain fatty acids (b) It is sodium salts of su!phomc acnds

(c) The ionic part in a detergent is = SO; Na®™  (d) It is effective even in hard water.

The refractive index of four substances A, B, C and D are 131, 1,43, 1.33, 24 respcctlvely The speed of llght is
“maximum in - ; ,

aAb)B ¢)C dyD _ - :

A person who met with an accident lost control of body tcmperature water bdlance and hunger Whtch of-the -~
‘following part of brain is supposed to be damaged? : s
(a) Medulla oblongata -(b) cerebrum (c) pons (d)_hypothalamus\ FiEs _ : ™ 10 Scrcnce EMP 2
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